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QUESTION 1

When working directly with SOAP, which two statements are true about the encoding of compound values? (Choose
two.) 

A. Compound values cannot be encoded. 

B. A compound value may NOT contain other compound values. 

C. Members of a compound value are encoded as accessor elements. 

D. Accessors with names that are local to their containing types have unqualified names. 

Correct Answer: CD 

 

QUESTION 2

A developer creates the following web service: 

Assuming that he packages the class in a war file without deployment descriptors, the web service is hosted by a EE
container relative to module context at ? (Choose one) 

A. "/Invoice" 

B. "/InvoicePort" 

C. "/InvoiceService" 

D. "/InvoiceWebService" 

Correct Answer: C 

 

QUESTION 3

An engineer is creating a WSDL 1.1 document, and is having difficulty with the wsdl:messages section. 

Which two statements are true about wsdl:messages in a WSDL 1.1 document? (Choose two.) 

A. Both type and element attributes can be used on the same wsdl:part. 

B. Both type and element attributes can be used on the same wsdl:binding. 

C. The type and element attributes cannot be used on the same wsdl:part. 

D. The type and element attributes cannot be used on the same wsdl:binding. 
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E. Document-style messaging allows the type attribute. 

F. Document-style messaging allows the element attribute. 

Correct Answer: CF 

 

QUESTION 4

A developer wants to use WebServiceContext in the web service endpoint. Which of the following is the correct way to
get WebServiceContext object ? (Choose one) 

A. @WebService public class MyService { @WebServiceContext WebServiceContext ctxt; public String echo(String str)
{ ... } 

B. @WebService public class MyService { WebServiceContext ctxt; public String echo(String str) { ctxt =
jndi.lookup("java:com/env/WebServiceContext"); } 

C. @WebService public class MyService { @Inject WebServiceContext ctxt; public String echo(String str) { ... } 

D. @WebService public class MyService { @Resource WebServiceContext ctxt; public String echo(String str) { ... } 

Correct Answer: D 

 

QUESTION 5

Given the JAX-RS root resource class fragment: 

Choose the statement that best describes the configuration that would be required to support the access control
constraint shown: 

A. No further configuration is required - the JavaEE runtime will pick up the security constraint and configure the web
container to match. 

B. The developer will have to configure the web container to require authenticated access to the URLs corresponding to
this resource, so the proper information can be propagated to the EJB container. 

C. The developer will have to turn on authentication in the web container configuration file, so that all incoming requests
are authenticated in order to be processed. 

D. The developer will have to configure the web container to require authenticated access to the URLs corresponding to
this resource, and then map web-tier roles to ejb-tier roles, since the JAX- RS and EJB runtimes cannot use the same
set of roles. 

Correct Answer: B 
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